PGC 052853

arcsec

-50 0 50
arcsec
50 - -
g "
§ 0
m .
50 - _
I ‘ L L ‘ L |
-50 0 50
arcsec
I T— E
10 -~ AS 3
& 08 X
0.6 - E
0.4 :
02" ‘ E
0.0:& ) ‘ ]
0 20 40
_ 100f S
) - ;
o 50 SRR + -
> - ST e +%+ T
o oF + + +
N - N + + o+
I -+ .
£ 50|+ + ey + " T
E i ++++++ n + i
000 | | ]
0 20 40 60 80

Radius (arcsec)

200 | — ]

- Vhao ]
B V3.6um 7
: Vi |
150 - =
©
£
<
> 100
50

O \\\\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\

0 10 20 30 40 50
Radius (arcsec)

0.60

0.45

10.30

10.15

-0.30

-0.45

-0.60

arcsec

0.8

0.6

-50 0 50
arcsec
h= 14"
h= 1.9
h= 35"

0 20 40 60 80
Radius (arcsec)

—~ 100 - ]
" - i
& ]
\x/ —

E .

= E

0.8

0.6

20

40 60

80

Radius (arcsec)
Q.. AJ¥ L.
rQb : Y rA2 : e
Qpeloeer ., Ay(f) e
rgz:)lo—corr . ATaX -
Qe .. Vi, 1 79.37 27 kmi/s
ee foum © 42.75, 150
(Qparonynalo-corr Vs gum(Ropd) @ 74.87 74 kmi/s
(raronlyyhalo-corr . drVseum(0) © 39.07 2§ km/s/kpc
Q(fun) © - My/M.(<Ry) : 3.76
Qlatoeormp )z a: 11.2kpc
€ ... V_: 194.0 km/s
—— QT |
halo-corr
Qr ]

40
Radius (arcsec)

60



